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G) TEIH-IT GG HAyHEE- FIN G/

(i) @US & gl & forw IfAard & |

(iii) @IS @ & 31 19T & - I3 19aRull 7 [9cisur aor 3faehicid @i |
(v) @UE @ & &acT 0% &1 [dehcy & J941 & I feifaw |

()  1E 597 F gy @us] & I TP &7 T W ford 57 FifsT |

General Instructions :

(i) This question paper contains two parts — A and B.
(it)  Part A is compulsory for all.
(iti) Part B has two options — Analysis of Financial Statements and

Computerised Accounting.
(iv) Attempt only one option of Part B.
(v)  All parts of a question should be attempted at one place.

WU &
(TR TISAT, AT BHT AT B AT o o0 AEmen)
PART A

(Accounting for Not-for-Profit Organizations, Partnership Firms and
Companies)

1. ‘ol & YR W Wiftd Td AW @Td 99T ™ g o9 @Id § Faug
HIT |

HYAT

‘Se TgerdT oo b1 T 7 2
Differentiate between ‘Receipts and Payments Account’ and ‘Income and

Expenditure Account’ on the basis of ‘Period’.
OR

What is meant by ‘Life membership fees’ ?

2. I IAF HEH & 1549 faT T 10,000 1 AR AT | BT W 12% SR
TS ATHT 8 | < o 38 T IS shl TUMT <hIfST |

Dev withdrew ¥ 10,000 on 15t day of every month. Interest on drawings
was to be charged @ 12% per annum. Calculate interest on Dev’s drawings.

3. AU T TH BH < AEER I GAT 3 : 2ok UG H oW Sied o | T G 7

TIT HTEICR ST TR | o 9 379 379 iﬁmﬂaﬁw%mam@ﬁ

U A} BT 50% W F 1 & FAT | &, @, T qAT 9 & ¢ A9 fauee
AT 6T AT HIRT |
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A and B were partners in a firm sharing profits in the ratio of 3 : 2. C and

D were admitted as new partners. A sacrificed ith of his share in favour of

C and B sacrificed 50% of his share in favour of D. Calculate the new profit
sharing ratio of A, B, C and D.

“Qdehl ! g A o IMYR W TIHEH & GHied adn areieil 4 o foere’

H 3Tavg I | 1
3T

g o a¥ § gd HISIGR o T Sl 1 7 @1 <Al Ufst 6 omEr % e

I Iee@ FHIMNT | 1

Distinguish between ‘Reconstitution of Partnership’ and ‘Dissolution of
Partnership Firm’ on the basis of ‘Closure of books’.

OR

State the basis of calculating the amount of profit payable to the legal
representative of a deceased partner in the year of death.

‘Gurfaes gfaqfd % &9 § o= o Fa’ &1 e g 7 2 1
AT
HIO SAfUFEm, 2013 % FTHER RUGH IMEF DY o o [T TEGH H
3oehg HIfT | 1
What is meant by ‘Issue of Debentures as Collateral Security’ ?
OR

State the provision of the Companies Act, 2013 for the creation of
Debenture Redemption Reserve.

UH gl g1 STMYRI T Ieci@ hiToT, e ITTAR =TT HIEIGR! BH o faered
1 T < Fohell 2 | 1

State any two grounds on the basis of which court may order for the
dissolution of partnership firm.

M o ‘Afy-3fire’ o1 319 7 2 Srfu-afiyem it fedfa O 319 & 3TEe &

foTu Sucrey faeredl 1 T 3eTeT0T <l HEMEAT © H&9 H HHSY | 3
Jrerar

‘I < FOT 1 1 I B ? ‘A b TN W AW el A Elal & A1 el 3

ISt g9 | gearaia T STt g 2 3

What is meant by ‘over-subscription’ of shares ? With the help of an

example, briefly explain the alternatives available for allotment of shares
in case of over-subscription.

OR

What is meant by ‘Forfeiture of shares’ ? When does ‘gain on forfeited
shares’ arise and when is it transferred to capital reserve ?

3 P.T.O.
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3, fomar aon <iueh T B % HIHER B qAT 2: 3 : 5 h U@ H oY died
8 | BH ! BANd &1 qoAmehd T 37,500 TohaT T 8 | WA A ST UgU
foram | fomer qen dues 3 vfosy | A9 SUSR-SUeR Sied w1 iy o | e
o TR TV i T foder aam ues o ATH/caT shl oM <hIfST qen &l
& AGT HH & U SArewIes UoHm=n gfafse oft Sifse |

Aman, Bimal and Deepak are partners sharing profits in the ratio
of 2 : 3 : 5. The goodwill of the firm has been valued at ¥ 37,500. Aman
retired. Bimal and Deepak decided to share profits equally in future.
Calculate gain/sacrifice of Bimal and Deepak on Aman’s retirement and
also pass necessary journal entry for the treatment of goodwill.

fFfeiigd g=91 € 31 AT=, 2018 ! FHI 99 § ] TIICH Fa1e gl I STRIGH

EIRUNEC RIS 1l
r— 31.3.2017 31.3.2018
T T
AT\ T 3,000 4,500
e I=aT 4,500 6,000

A9 % 2,000 TS & AT TAH TG T 500 TTM¥h == T YT AT @ |

From the following information, calculate the amount of subscriptions
received by Happy Sports Club during the year ended 315 March, 2018.

. 31.3.2017 31.3.2018
Particulars
< <
Advance Subscription 3,000 4,500
Outstanding Subscription 4,500 6,000

The Club has 2000 members each paying an annual subscription of ¥ 500.

T 50 3% & 7,500, 9% TG bl 6% o 9 W FiHd H, D1 e 10%
& fiftem W w7, Y Tavge UsHm=n Ifafseat Hife qen 9% o @

TR HifsT |

Pass necessary journal entries and prepare 9% Debentures Account for
the issue of 7,500, 9% Debentures of ¥ 50 each at a discount of 6%,
redeemable at a premium of 10%.

31 TTH, 2018 I TSfid, Fofta adm Srsh 1 w4 &1 foge g mn | Jg faof
oo e b gefia forereq wvareft nfafafemt q@m qen 38 afrai o s=1 ®
T Jed 1 10% I &M | GSiia Jgell AT i 987 H % [ dgad &l
T | giERRED 8 T 10,00,750 ST g Q€T ST 2 T 90,000 ¥, T
A BH hl TG G R T | THER B Ik g Wk g MO W
T 4,50,000 T PTAH TR T |

39h el o foTT H <Al qedehl B 1ragash UsmH= gfafeeat Hife |
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12.

13.

The firm of Manjeet, Sujeet and Jagjeet was dissolved on 315t March,
2018. It was agreed that Sujeet will take care of the dissolution related
activities and will get 10% of the value of assets realised. Sujeet agreed to
bear the realisation expenses. Assets realised ¥ 10,00,750 and realisation
expenses were < 90,000, which were paid from the firm’s cash.
T 4,50,000 were paid to the creditors in full settlement of their claim.
Pass necessary journal entries for the above transactions in the books of
the firm.

% AT G Th BH b ATGR I qAT 5 : 3% U § oY &fed & | 31 T4,
2017 =l 3! TARM Gt off 1 & T 60,000, AT @ T 80,000 | I Yol W 12%
uid Y A o o T #gHd gU | IS W SIS o7 ¥ g 31 °rE, 2018 W
THT U Y o fIQ % 1 @19 T 12,600 o1 |

I9Yh THCAT o foT & 3R @ i JEaehi § Aaweh U= Sfafeeai S |
Y & A Hr-fevaft @t Tt w9 @ gIfsT |

A and B were partners in a ﬁrm sharing profits in the ratio of
5 : 3. Their fixed capitals on 315" March, 2017 were : A ¥ 60,000 and
B ¥ 80,000. They agreed to allow 1nterest on capital @ 12% p.a. The
profit of the firm for the year ended 315t March, 2018 before allowing
interest on capitals was ¥ 12,600.

Pass necessary journal entries for the above transactions in the books of
A and B. Also show your working notes clearly.

%, @ AT T ATER & qAT 2 : 2 : 1 UG § A9 dled o | 31 °TH,

2018 <kl 3T ferfd foaewor f= yopr & o -
31 UTH, 2018 1 &, @ qAT 7 k1 Tearfa ferewo
- gﬁn N ;rﬁzr
g S ¥ ke 3,00,000
ED 7,50,000 fafog Ter 1,95,000
T gad ®O 5,000
o -
3,00,000 Ny N 1,90,000
T 2,50,000 | 13,00,000 | ¥ 3,00,000
TR 2,00,000 | Tl gimafaat 7,10,000
15,00,000 15,00,000

39Tk feifer =1 3w b1 ferered fepam qon forer wifer et &g
Tt giErET T 6,75,000; € T 3,39,000; GIGR T 1,35,000; THGRT I 3Teh
TE % Ut F9eH =g T 1,85,000 T ST fohal T | St 5= T 19,000 ¥ |

TH o foeed W 3Tavaes UsAmE=n Yfafseat it | 6
sreraT
5 P.T.O.




oY, Y qAT 3TN Th HH < TSGR & TAT 3: 2 : 19k UMM H ATH-IH Fied o |
31 9T, 2018 & 37k fefd foewor f v @ o
31 WT, 2018 hi WY, T AT R T TErfa foramor

SRS 50,000 | TS B& 40,000
A o 60,000 | 5% H Uhg 2,00,000
IS wieh 50,000
qt 2,00,000 SER 60,000
LR 3,00,000 Tt gfEr o 5,60,000

Sl 3,00,000 | 800,000
9,10,000 9,10,000

39k Tafer vt ®H o1 Gl foharn o qen g for foram o o6
T ATy fauTeH 3TUTd 2: 2 : 180 |
T 6,000 % G KU ol TR {ohaT ST qAT Fod qAT TG ol

(1)
(ii)

& T = 3,000 =1 Srau™ foRam ST |

(iii)

TISER 1 YSl I 5 BH H 3ok AT o9 [I9SH U@ o IER

U foham ST | 38k fofu ATeiei o =il @Td @ied Sa |

®H o QS W ST USHHET Ffafsedt shifsrg |

A, B and C were partners sharing profits and losses in the ratio of
2 : 2 : 1. Their Balance Sheet as at 315t March, 2018 was as follows :

Balance Sheet of A, B and C as at 315t March, 2018

Liabilities Amount | A sets Amount
Capitals : Cash at Bank 3,00,000

Sundry Debtors

A 7,50,000 1,95,000

Less : Provision
B 3,00,000 for Bad Debts _5,000 | 1,90,000
C 2,50,000 13,00,000 | Stock 3,00,000
Creditors 2,00,000 | Fixed Assets 7,10,000
15,00,000 15,00,000
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On the above date they dissolved the firm and following amounts were

realised :

Fixed Assets T 6,75,000; Stock T 3,39,000; Debtors T 1,35,000; Creditors
were paid ¥ 1,85,000 in full settlement of their claim. Expenses on
Realisation amounted to ¥ 19,000.

Pass the necessary journal entries on the dissolution of the firm.

OR

P, Q and R were partners in a firm sharing profits and losses in the ratio
of 3:2: 1. On 315' March, 2018 their Balance Sheet was as follows :

Balance Sheet of P, Q and R as at 315t March, 2018

Liabilities Am;unt Assets Am;unt
Creditors 50,000 | Cash in Hand 40,000
General Reserve 60,000 | Cash at Bank 2,00,000
Capital : Stock 50,000
P 2,00,000 Debtors 60,000
Q 3,00,000 Fixed Assets 5,60,000
R 3,00,000 8,00,000
9,10,000 9,10,000

On the above date the firm was reconstituted and it was decided that :

(1) The new profit sharing ratio will be 2: 2 : 1.

(i1) Bad debts ¥ 6,000 were to be written off and a provision of

T 3,000 was to be made for bad and doubtful debts.

(iii) The capital of the partners will be adjusted in the new firm in their

profit sharing ratio. For this, partners’ current accounts will be

opened.

Pass the necessary journal entries on the reconstitution of the firm.

P.T.O.
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&

14. 319, 2018 %! TATA Y 99 % oY oo N @od, 7% fooell o fmfefiad
TIftd W& YaH @Td qel Afdies ge1 8 7™ @ 39 @rar qon feufa faawm

TR hIY |

31 9T, 2018 1 HATH TC Y % 1Y T8 HRA Fd o1 TTTH TS YA @it

iR at B UKIES at
T T
Y M AW AN = 1,30,000
fl%@, 20,000 EIRIGRRCRI 40,000
EED 40,000
== 60,000 | I 10,000
=g 1,80,000 | 1= ohT foptmm 12,000
RUER TR EED
(=T T T 3,000) 2,000 | fosma= 15,000
. (1.8.2017 =1 12% Ui
Sldd HoRdl [een
3! 30,000 | _¢ ) o 2,00,000
FLhRT TG 2,00,000 | 39 = & TT
Uhs 25,000
EED 40,000
———| 65,000
4,72,000 4,72,000
STaRE T :

1.4.2017 =i qREwai off : g&deh T 50,000; FFEH T 75,000 |
1.4.2017 %! AT q1 Yot Y & : TR T 60,000; ISt Y T 1,28,000 |
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15.

From the following Receipts and Payments Account and additional
information of Swachh Bharat Club, New Delhi for the year ended

318t March, 2018, prepare Income and Expenditure Account and Balance
Sheet.
Receipts and Payments Account of Swachh Bharat Club

for the year ended 315t March, 2018

Receipts Am;unt Payments Am;unt
To Balance b/d By Campaign 1,30,000
Expenses
Cash 20,000 By Office rent 40,000
Bank 40,000 60,000 | By Salary 10,000
To Subscriptions 180,000 | >Y B;:If? iture hire 12,000
To Sale of old
furniture (book 2,000 | By Advertisement 15,000
value ¥ 3,000)
To fl,;l(fz Membership 30,000 | By Fixed deposit 2,00,000
(On 1.8.2017
To Government grants | 2,00,000 @12%p.a.)
By Balance ¢/d
Cash 25,000
Bank 40,000 65,000
4,72,000 4,72,000

Additional Information :
Assets on 1.4.2017 were : Books < 50,000; Computers I 75,000.
Liabilities and Capital fund on 1.4.2017 were : Creditors ¥ 60,000;

Capital fund ¥ 1,28,000.
g AFESE @ R wd ' H T e T % T stmaws

FE-FIRH U= Sfafeear hifu | 3T9en! 379 1 ol W T 2T 2 | 6
(i) %, @ qA T AEER o qAT AT SUSH-SRE diecd & | ITeh! TARA goft
off % T 4,00,000; @ T 5,00,000 AT T T 6,00,000 |
el Ho@ H WEgH of T ARl @ St W 10% Jfd a9 s fe
SITE | $EehT <6 & 7 |

9 P.T.O.



16.

(i) O, L TAT AR TH FH o AEER o qAT AH-FH 2: 2 : 19 7A@ |
Sled & | 3Tk HIHEK Go@ H Yrae o foh AEieri o A8 W 18%
fd a9 SIS AR AW | PR % IR0 W SAN HAN: T 1,000,
T 500 AT T 2,000 o1 | FHH! I &I TS |

Pass necessary rectifying journal entries for the following omissions
committed while preparing Profit and Loss Appropriation Account. You
are also required to show your workings clearly.

1) A, B and C were partners sharing profits and losses equally. Their
fixed capitals were A ¥ 4,00,000; B ¥ 5,00,000 and C ¥ 6,00,000.
The partnership deed provided that interest on partners’ capital
will be allowed @ 10% per annum. The same was omitted.

(ii) P, Q and R were partners in a firm sharing profits and losses in
the ratio of 2 : 2 : 1. Their partnership deed provided that interest
on partners’ drawings will be charged @ 18% p.a. Interest on the
partners’ drawings was ¥ 1,000, ¥ 500 and ¥ 2,000 respectively.
The same was omitted.

ww fdfids 9 T 10 9% & 1,00,000 THAT 3/ o AHT & faU A6
AmBEa fpu | 319 1 T 5 Ufd 31w & Hiftem w Feifya feren mn | iyt ==
A 3 JehR & HET o

JTEE 9T e W — T 8fd 31w (T 3 Hiftem Tfza)

oy Ud A\ It W — Hiftem wfgq 9w
1,50,000 37211 % fTQ 3Tmag I Y | 10,000 =0 % fIQ 3TreEAl =i © W
e T 9o AW STehl i I STUR W AR 1 Sreed TR T

(D 80,000 37T & ATACehi sl 60,000 T T TTeH, qAT

(I) 60,000 3730 o 3G I 40,000 M HT A&

TG qAT 3T W ITed fdfs T 61 THTSH 71 R T Uiy 4 o foqan
T | T, St I ool O orafeea o qen S 300 3T Rt 3meed feRam TR e,
Y| a1 | AT ART 1 PTAE S B TR @1 | 915 of, S 11 9oft &
graf-ygd o an {58 200 3790 1 e fohan R o, gem qen Sifam A=A
TRT T PTAH H | TR T | 3ok 3T T FWT o foran T | &1 fopm
T AN T 12 9id 37 QO Tea A R feu T |

ST Tl W foTu wrot f qedenl B OSTEveh Uhe §@l T USHHEE
gfefeeat s |

YT
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S g 9 T 10 I % 1,12,000 FHAT M I AT W FHIHA L 6
foru ot etmfaa fope | ufa srer TfSt 1 Yam = JohR | AT o

e | -1
e T/ )
JUq =T T - <3

A AfH A= R — T 4

1,00,000 311 % foTq 3Teed UTed gL | G 3T1eigehi i 01 &9 § AT I

aMTee R fem M | W A T 2,000 FH AT A& H1 PAE &

foRam | 3Tk 73T ST g &0 R foram T | A I 319 Iafed 500 I W

T JTEAT RN T YA el fhaT | oW Jr=q1 o q9arq 39 3791 ol &0

T =T T | W qAT G Sk TN fRU M I w1 T 9 Ui AW qU ed

%zﬁﬁmaﬂﬁmwwﬁsmwamwﬁmwﬁﬁﬂéamwﬁ
|

A fdafide 1 qEael # IUYE THeAl o [T oTavEes UsHm=n fafsear
HIIT |

S Ltd. invited applications for issuing 1,00,000 equity shares of
% 10 each. The shares were issued at a premium of ¥ 5 per share. The
amount was payable as follows :

On Application and Allotment - ¥ 8 per share (including

premium ¥ 3)
On the First and Final call —  Balance including premium

Applications for 1,50,000 shares were received. Applications for 10,000
shares were rejected and pro-rata allotment was made to the remaining
applicants on the following basis :

D Applicants for 80,000 shares were allotted 60,000 shares, and

(I)  Applicants for 60,000 shares were allotted 40,000 shares.

Excess amount received on application and allotment was to be adjusted
against sums due on call. X, who belonged to the first category and was
allotted 300 shares, failed to pay the first and final call money. Y, who
belonged to the second category and was allotted 200 shares, also failed
to pay the first and final call money. Their shares were forfeited. The
forfeited shares were reissued @ ¥ 12 per share as fully paid-up.

Pass necessary cash book and journal entries for the above transactions
in the books of the company.

OR

11 P.T.O.



17.

Jain Ltd. invited applications for issuing 1,12,000 equity shares of ¥ 10
each at par. The amount per share was payable as follows :

On Application - T1
On Allotment — T2
On First call — T3
On Second and Final call — T4

Applications for 1,00,000 shares were received. Shares were fully allotted
to all the applicants. Ramesh failed to pay his allotment money which
was ¥ 2,000. His shares were forfeited immediately. Suresh did not pay
the first call on 500 shares applied by him. His shares were forfeited after
the first call. The forfeited shares of Ramesh and Suresh were re-issued
at ¥ 9 per share fully paid up. Afterwards the second and final call was
made and was duly received.

Pass necessary journal entries for the above transactions in the books of
Jain Ltd.

% AT @ TH BY b GHER & AAT 3 : 2 % U H AW died o |
31 9/, 2018 s 3eT fefa foaemor f1 yopr & o -

31 HT=, 2018 Rl & dAT @ T el feraon

gt e 8,000
% 1,04,000 fafeg @R 37,600
g 52,000 Tl : Gfqey
1,56,000 | 39T % forg
BICRIE] 1,600 36,000
TER 1,54,000 | ¥Ih 60,000
AT wiasy iy = 16,000 | gaiea SfiwT 6,000
HITR &fagfd iy 10,000 | TATe qerm wefi= 76,000
TR (CHeh T 10,000 | W 1,40,000
BT 20,000
3,46,000 3,46,000

T %I Teh AT HISIER o €9 § Jo9 {31 T 991 98 T 64,000 319 IS % foqw
AT T 15,000 319 91T 1 wrfa Dt & fow @ | 791 ey fause s
5:3:29T |

67/411 12



T S R o weld g

(1)
(ii)
(iii)
(iv)
(v)

Tleh T 5% YeIg™ A= ST |

qiqg ol & T 9™ T 2,000 foram ST@ |
HHeR T 10% HoIgiE TRl ST |

W T eI T 1,60,000 ToRaT T |

% qAT @ hI St 1 qEESE T hH Sk U W FRafd FgER e
wawwm%mwl

qTifed ®H 1 GAHcATRA @Mdl, ATeRRi o Yol @d a1 f&fd foerer dum

hifog
St 3

| 8
Srra
AT TH Th BH o TEGR & TAT 7 : 2 : 1% UG § A9 dled 9 |

319, 2018 ! %4 =1 fefq foeor 1 g & o -

31 WT, 2018 <R 51, 3 de U <1 feurfa ferawor

ESiE g 90,000

St 1,40,000 fafag Ter 24,000

3 40,000 wih 14,000

% 20,000 | 2,00,000 | #ef= 80,000

TR 28,000 | ¥ o e 1,20,000
M= = 40,000
3 H R 60,000

3,28,000 3,28,000

Ih Tl o1 § 9 STehI™T UUT TRl | § o TR TRV i T X wgwld 3

(1)

(i1)
(ii1)

(iv)

qTifed BH 1 GAHcATRA @Mdl, ATERRi o Yol @Td qor f&fd foerer dam
i |

67/4/1

Y| T HIA T T 1,88,000, AL 1 T 76,000 TAT ik 1 T 10,000
T GAHEATRA TR TR TAT BH <hl TAT(d 1 Jodtehd T 90,000 foram T |

gfqre Fon o foTt gHeRl W 2-5% T 1€ LT o |

3 I ¢F I[g TNRT I I8k R @Id H FeA=aid fohaT T Teehl YT
a1g T R S |

T Bl HA S T 2,40,000 TG H TE R THRISE =1 @
GIAht 39oh T AT fIUTSH STUTd o AR foham Sram |

8
13 P.T.O.



A and B were partners sharing profits and losses in the ratio of 3 : 2.
Their Balance Sheet as at 315t March, 2018, was as follows :

Balance Sheet of A and B as at 315t March, 2018

Liabilities AMOUDY | 5 sets Amount
Capital : Cash 8,000
A 1,04,000 Sundry Debtors 37,600
B 52,000 Less : Provision for
1,56,000 | 4oubtful debts 1,600 | 36,000
Creditors 1,54,000 | Stock 60,000
Employees’ Provident
Fund 16,000 | Prepaid Insurance 6,000
Workmen
Compensation Fund 10,000 | Plant and Machinery 76,000
Contingency Reserve 10,000 | Building 1,40,000
Furniture 20,000
3,46,000 3,46,000

C was admitted as a new partner and brought ¥ 64,000 as capital and
% 15,000 for his share of goodwill premium. The new profit sharing ratio

was 5:3:2.

On C’s admission the following was agreed upon :
) Stock was to be depreciated by 5%.

(ii)
(iii)

(iv)

Provision for doubtful debts was to be made at ¥ 2,000.
Furniture was to be depreciated by 10%.
Building was valued at ¥ 1,60,000.

(v)  Capitals of A and B were to be adjusted on the basis of C’s capital
by bringing or paying of cash as the case may be.

Prepare Revaluation Account, Partners’ Capital Accounts and the
Balance Sheet of reconstituted firm.

OR

67/411
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G, E and F were partners in a firm sharing profits in the ratio of 7: 2 : 1.
The Balance Sheet of the firm as at 315t March, 2018, was as follows :

Balance Sheet of G, E and F as at 315t March, 2018

Liabilities Amount | A ssets Amount

Capital : Cash 90,000

G 1,40,000 Sundry Debtors 24,000

E 40,000 Stock 14,000

F 20,000 | 2,00,000 | Machinery 80,000

Creditors 28,000 | Land and Building 1,20,000
General Reserve 40,000
Loan from E 60,000

3,28,000 3,28,000

E retired on the above date. On E’s retirement the following was agreed

upon :

(1) Land and Building were revalued at ¥ 1,88,000, Machinery at
T 76,000 and Stock at ¥ 10,000 and goodwill of the firm was

valued at T 90,000.

(ii)
(ii1)
be paid later on.

(iv)

A provision of 2-5% was to be created on debtors for doubtful debts.

The net amount payable to E was transferred to his loan account to

Total capital of the new firm was fixed at ¥ 2,40,000 which will be

adjusted according to their new profit sharing ratio by opening

current accounts.

Prepare Revaluation Account, Partners’ Capital Accounts and the

Balance Sheet of reconstituted firm.

15

P.T.O.



18.

19.

20.

WUE @
fareu 1

(foreitar Teramott st forgeton)
PART B
OPTION 1

(Analysis of Financial Statements)

‘TATS 1 WIT ol e T (A W SF=RId aFfiehd fRAT ST Hehdl B 2
Ioohg HIRTT | A1 & 379 I o a9 | HRor T |

When can ‘Receipt of Dividend’ be classified as an operating activity ?
State. Also give reason in support of your answer.

“Uepg vaTg foewr’ & == 319 § 2
What is meant by ‘Cash Flow Statement’ ?

Hrot srfafEm, 2013 ST STFE 1L, AW 1% AR = |l ol foh g

YfYehl o IURfSehl o IF=dTd ST T 2
(i) <99 Ud S gIHE &
(i) TG AR

(i) wfoyfa Shftem d==
(iv) ©: HeH ¥ %A 6 gfgeadr s1afy & fou e fafm=mm
(v) & TIfd ®
(vi) WEH 3R
(vii) TehTeM IS
(viii) ¢TER
AT

forfta foweroor & wgw 1 (1) FHAT AT, T (11) THERI o folu, FHEST |

Under which major heads and sub-heads will the following items be placed
in the Balance Sheet of the company as per Schedule III, Part I of the
Companies Act, 2013 ?

1) Cheques and Bank Drafts in Hand

(i1) Loose tools

67/411 16
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21.

(iii)  Securities Premium Reserve
(iv) Long-Term Investments with maturity period less than six months
(v)  Work-in-Progress
(vi)  Mining Rights
(vii) Publishing titles
(viii) Debtors
OR

Explain the importance of financial analysis for (i) labour unions, and
(i1) creditors.

frfafea ge & A ¥ faga fafits 1 gaarers sm-faat dam

i 4
o 2016 - 17 2017 - 18
T T
FEIRCIR: R IUE 10,00,000 16,00,000
39T <1 T Gt < AT 5,00,000 10,00,000
HHEH feaamy == 80,000 40,000
I AT g 60,000 80,000
SR T 40%.

Prepare a Comparative Income Statement of Bikul Ltd. with the help of
the following information :

Particulars 2016 - 17 2017 - 18
< <
Revenue from operations 10,00,000 16,00,000
Cost of materials consumed 5,00,000 10,00,000
Employee benefit expenses 80,000 40,000
Other indirect expenses 60,000 80,000

Income Tax Rate 40%.
17 P.T.O.



22. T S I =TT I 80% & | FaTsC fob T oiFeHl | I8 ST{UTd se,
T HET T H hIg qiaa gl T
(1) IYR 9L HTSA bl T T 20,000
(i) @Gl 1 YA T 5,000
(iii) ¥ 8,000, 9% FRUTISAT T MG
(iv) ¥ 50,000 TTg § HIe 1 foshat
YT

foran fafiee i f=fofea g @ $a siemafat w ko s 6 o
SHifsre

EAT TR ST — ¥ 5,00,000
9% JATEHRR 791 Yoit —  T4,00,000
Toft ufgmafaat —  ¥12,00,000
s/ fafem - ¥1,50,000
99 U AT —~ ¥ 240,000
1 qREe —~  ¥1,90,000
Bl EEREIY —~  ¥1,00,000

The operating ratio of a company is 80%. State whether the following
transactions will increase, decrease or not change the ratio :

(1) Purchased goods on credit ¥ 20,000
(ii))  Paid wages T 5,000

(iii) Redeemed T 8,000, 9% debentures
(iv)  Sold goods ¥ 50,000 for cash

OR

From the following information of Shiva Ltd., calculate total assets to
debt ratio :

Equity Share Capital — < 5,00,000

9% Preference Share Capital — < 4,00,000

Fixed Assets - < 12,00,000

Non-Current Investments - < 1,50,000

Reserves and Surplus - < 2,40,000

Current Assets - < 1,90,000

Current Liabilities - < 1,00,000

67/411 18



?3. 31 W, 2017 i AR.wH. fdfies & F=fafaa feafa foaor o v Uws o=
foreror dam hifSe
aAr.uw, fafes
31 9T, 2017 w1 feurfa feemor
=ﬁ; 31.3.2017 | 31.3.2016
T g. T T
I - {HAT TS qFaTy
1. | stwrardr fAfert
31) T Sl 15,00,000 | 10,00,000
(9) "= wd Ay (ev-giie feewor &1 3w) 7,560,000 |  6,00,000
2. Wﬁ?ﬁﬂﬁ :
EehTcA I R0T 1 1,00,000 |  2,00,000
3. Wﬁ'ﬂﬁT@: :
(37) saIR F 1,00,000 |  1,10,000
(9) Feutafy gray™ 2 95,000 80,000
HA 25,45,000 | 19,90,000
II - gttt
1. | 3TareT gt
(31) Tt UTErgtET
(i) T gt 10,10,000 |  9,00,000
(i) 3T Rt 4 2,80,000 |  2,00,000
(%) sreret-farfam 5,00,000 —
2. mqtrﬁumﬁ'ﬁ
(1) A= 1,80,000 | 1,00,000
(¥) MR I 2,00,000 |  1,50,000
(|) Ths T Uhg oo 5 3,75,000 |  6,40,000
e 25,45,000 | 19,90,000
67/4]1 19 P.T.O.




=
@rdal & qed
:ﬁ? — 31.3.2017 31.3.2016
9. T T
1. | SreierTe /Ot
9% RIS 1,00,000 2,00,000
1,00,000 2,00,000
2. | eTeuTater UraUT :
L I 95,000 80,000
95,000 80,000
3. | T uiErd it
e U A wehta (Tfd) 12,10,000 11,40,000
qoIg™ (2,00,000) (2,40,000)
10,10,000 9,00,000
4. | oTE U ;
LI 2,80,000 2,00,000
2.80,000 2.,00,000
5. | Trhg TS TehS e :
(i) Thg T& 70,000 3,50,000
(i) ¥ 99 3,05,000 2.90,000
3,75,000 6,40,000
STIARE G :

(i) 99 % SR, Tk I I, TS @ T 80,000 off, den 9 W whia
(dfad) geas@ T 50,000 91, T 30,000 § =T TR |

(i) 9% UG =T ME 31 9=, 2017 1 foham T |
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The following is the Balance Sheet of R.M. Ltd. as at 315t March, 2017.
Prepare a Cash Flow Statement :

R.M. Ltd.
Balance Sheet as at 315t March, 2017
Note | 31.3.2017 31.3.2016
Particulars No. F F
I - Equity and Liabilities :
1. | Shareholder’s Funds :
(a) Share Capital 15,00,000 10,00,000
O Lo Baeen | oo gonooo
2. | Non-Current Liabilities :
Long-term Borrowings 1 1,00,000 2,00,000
3. | Current Liabilities :
(a) Trade Payables 1,00,000 1,10,000
(b) Short-term Provisions 2 95,000 80,000
Total 25,45,000 19,90,000
II - Assets :
1. | Non-Current Assets :
(a) Fixed Assets:
(i) Tangible Assets 3 10,10,000 9,00,000
(i1) Intangible Assets 4 2,80,000 2,00,000
(b) Non-Current Investments : 5,00,000 —
2. | Current Assets:
(a) Inventories 1,80,000 1,00,000
(b) Trade Receivables 2,00,000 1,50,000
(c) Cash and Cash Equivalents 5 3,75,000 6,40,000
Total 25,45,000 19,90,000
21 P.T.O.




18.

19.

Notes to Accounts :

Note . 31.3.2017 | 31.3.2016
Particulars
No. T T
1. Long-term Borrowings :
9% Debentures
1,00,000 | 2,00,000
1,00,000 | 2,00,000
2. Short-term Provisions :
Provision for Tax 95,000 80,000
95,000 80,000
3. | Tangible Assets : 12,10,000 | 11,40,000
Plant and Machinery
Accumulated Depreciation (2,00,000) | (2,40,000)
10,10,000 | 9,00,000
4. Intangible Assets :
Goodwill
2,80,000 | 2,00,000
2,80,000 | 2,00,000
5. Cash and Cash Equivalents :
(1) Cash in Hand 70,000 1 3,50,000
(i) Bank Balance 3,05,000 |~ 2,90,000
3,75,000 | 6,40,000

Additional Information :

1) During the year,

a machine costing ¥ 80,000 on which

accumulated depreciation was ¥ 50,000 was sold for ¥ 30,000.
(i) 9% Debentures were released on 315t March, 2017.

LCLEKC|
e 2

(etforeRtor TR

PART B
OPTION 2

(Computerised Accounting)

e w1 R AL 7 ?
What is meant by a ‘Label’ ?

‘Seieh higH 1 T Y 7 ?
What is meant by ‘Block Codes’ ?

67/411
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20.

21.

22.

23.

SHeRTTH TR T <l TFTEATIT o TN T Ieei@ hifT |
State the steps in the installation of computerised accounting system.
‘SEHT S qAT T SO H 3T=qHg HIfT |
HAgAT
Teh 3T TH@Teh Aideaat hi ToRIvarsti &1 Ieoi@ HifsT |
Differentiate between ‘desktop database’ and ‘server database’ ?
OR
State the features of a good accounting software.
TT@Thd ATFoRR U ger fomivareti &1 g1 I oIavas ® ? Udt fohegl @
fafert =t awgmse S et gREm YeH Hd | |
HAYAT

39 oI I AW Fq13¢ S ST i AR Sl Teqd T & | 39 feafa 1 ot
Ieor@ HifT o 39 Jeai < 3TN 1 ATE9Ihdl IS Hehall 3 |

Why is it necessary to have safety features in accounting software ?
Explain any two tools which provide data security.

OR

Name the value which represents absence of data. Also state the
situation which may require the use of these values.

fram foafies 9 T 1,50,000 § T TR w3fiF T T fRAT | I8 e
TYTOAT T IREE = % ®9 H T 50,000 1 PTAH fRIT | 98 AMd §C TR
599l % 37d § sHhl harg (Feanv) qed T 25,000 BT, TR fhva (wieft
@) fafer 1 S d U 36k qeag™ sl 0T SHIfT 9 TH.TH. UFEd §
BT T ITANT HLd Y FHh 3 h T0AT off HIT |

Nisan Ltd. purchased an embossing machine for ¥ 1,50,000. They paid
¥ 50,000 as installation and transport expenses. Assuming its salvage
value at the end of 5 years as ¥ 25,000, calculate depreciation by using
Straight Line Method and its rate using formulas in MS Excel.
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